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TYPEL: LOG=LOG

Chede
\05 oL0~30)
\03"\ (-12)

(1) | CONDENSE each logarithm.
@ Use the One-to-One Property: If log, m = log, n, then
(3) | SOLVE and CHECK FOR EXTRANEOUS SOLUTIONS.
1. 7085 (5 + 9) =Yg (6) 2 Tog, (1 - 4n) =Tog, (21 +43)
5RhTd =bX \-4n = 2AtH3
- -oX H4n 4n
@ - \ = bn "f"'\'?)
by M3
3\ogq(5 3w) = Doy (-2w) 4, |og(y+15;:;g4== iog§2
-w--?.w Uy+20) =Yg 72
B o m&(: }20 —\"?%
=W N -

5- 3 -|Og7 4 = 'Og? (40 "8)

6. log, 68 -log, 4 = log,(3n +11)

PR

1 09535 - logg (23 — 4w)

W%”s *03‘(26'4«»\
5= 23-4w
-1% = -4w

8. logy(2p -5) = 2-log; 6 - log; 4 )
| \og,2p-9)= \033Lo -
(’29-63-‘-‘-\03 o

&S = wi
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(m?) =W18 —~7m)

10. log 2 +log (kz) =log (k2 +16)

A

-\8 = 18-Tm
cbk?— M2+ Tm-18 =0
T [(m ¥ (m-2) =0
m=-1,2 |
TYPE 2: (1) | CONDENSE and ISOLATE the logarithm.
LOG = NUMBER (2) | write the equation in EXPONENTIAL FORM.
@ SOLVEGd CHECK FOR EXTRANEOUS SOLUTIONS.
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12. 1og 5(4x +8)-7 = -3

| 'F'l
2% = -4 oo (x5S = 4
-1 S
B =X 3 = Hu+e
2N {\Q.'JS = X l

13. log(2x) +log(x -5)=

lo 0 gxz-wx) =1

0% = 2x*-\OX
\0O =2x %-10¥X

O= 2x%=-\0X~-\100
o 2(%2 —2x—-5S0
= 2 (x=\Ox¥5

14. 2.logx-log 4=2

15. |0§6 (x+9)+loggx=2

16. log(x-3) +log x=1
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